Fp(X;)=achromatic receoptor responses , W, +W Fap(X)= achromatlc receoptor responses , W, +W
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Fap(%)= achromatlc receptor responses , W, +W Fap(X)= achromatlc receoptor responses , W, +W

Fou(X) = 10' -10%

1
X 0 -10 7
'1:5*gxé)- 10>< /a  qo7%/a  a=1,00,§=2,00, a;=a, In(10) 22,2302 E{() 2r)- Fanl) = 10><./a +107%/@ =100, 5=2,00, al_ajwn(u'):) =2,302
process W = process W

o d S -pr-oc-ess W+ F12 oL

process Tw +F1 2

50 0

.14

-50_, ] o .
L =28cdim ' e L =28cd
L

x=log[LL]| C 3 x=log[L/L,]
50 100 150F*usiocul*)=72 logt) + 50 50 100 150F*usiocu(*)=72logk) + 50
heb01-8a

heb01-7a




